MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
DEPARTM F REGULATORY AND ECONOMIC RESOURCES (RER) 11805 SW 26 Street, Room 208
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599

NOTICE OF ACCEPTANCE (N OA) www.miamidade.gov/economy

Peetz Windows and Doors, Inc,

15951 SW 41 Street, Suite 150

Weston, FL: 33331

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER -
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. RER
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code. '
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series “American” Bronze Clad Outswing Wood Casement Window — L.VLIL

APPROVAL DOCUMENT: Drawing No. 1687, titled “American Qut-Swing Bronze Clad Casement
Impact Wood Windows”, sheets | through 6 of 6, dated 07/05/12, prepared by W.W. Schaefer Engineering
& Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.,, bearing the Miami-Dade County
Product Control Revision stamp with the Notice of Acceptance number and expiration date by the Miami-
Dade County Product Control Section.

MISSTLE IMPACT RATING: Large and Small Missile Impact Resistant.

LABELING: Each unit shall bear a permanent label with the manufacturer’s name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise
noted herein. _
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.,

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to-the user by the manufacturer or itg
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA# 12-0713.03 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above. _

The submitted documentation was reviewed by Manuel Perez, P.E.

. NOA No. 14-0429.16
Expiration Date: October 25, 2017
Approval Date: July 24, 2014

' Page 1




Peetz Windows and Poors, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

1‘
2,

Manufacturer's die drawings and sections.

Drawing No. 1687, titled “American Out-Swing Bronze Clad Casement Impact Wood
Windows™ sheets 1 through 6 of 6, dated 07/05/12, prepared by W.W. Schaefer
Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E,
(Submitted under previous NOA No. 12-0713.03)

TESTS

1.

Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94

2} Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3} Water Resistance Test, per FBC, TAS 202-94

4) Large Missile Impact Test per FBC, TAS 201-94

5} Cyclic Wind Pressure Loading per FBC, TAS 203-94

6) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
along with marked-up drawings and installation diagram of an series American
outswing bronze clad wood casement windows & doors, prepared by Hurricane
National Test Laboratory LLC, Test Report No. HTL-0284-0501-10B, dated 09/13-
15/12, signed and sealed by Vinu J. Abraham, P.E.

 (Submitted under previous NOA No. 12-0713.03)

CALCULATIONS

1.

2.

Anchor verification calculations and structural analysis, complying with FBC-2010,
dated 12/14/11, prepared by W.W. Schaefer Engineering & Consulting, P.A., signed
and sealed by Warren W. Schaefer, P.E.

(Submitted under previous NOA No. 12-0713.03)

Glazing complies with ASTM E1300-04.

QUALITY ASSURANCE

1.

Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS

1.

Notice of Acceptance No. 12-1231.08 issued to Fastman Chemical Company (MA)
for their “Saflex CP — Saflex and Saflex HP Composite Glass Interlayers with
PET Core” dated 03/28/13, expiring on 12/11/18.

(-
e

.
g
£

&r; ifffiﬂgj 1oz,

Manuel Péi’ez* P.E,

“ Product Control E Emljuner

NOA No. 14-0429.16

Expiration Date: October 25,2017 -
Approval Date: July 24, 2014




Peetz Windows and Doors, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

F. STATEMENTS

1. Statement letter of conformance, complying with FBC -2010 and FBC - 5™ Edition
(2014), dated 04/10/14, prepared by W. W. Schaefer Engineering & Consulting, P.A.,
signed and sealed by Warren W, Schaefer, P.E.

2. Statement letter of no financial interest, dated 12/13/11, prepared by W. W. Schaefer
Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.
(Submitted under NOA No. 12-0713.03)

3. Laboratory compliance letter for Test Report No, HTL-0284-0501-10B, issued by
Hurricane Test Laboratory, LLC, dated November 14, 2011, signed and sealed by
Vinu J. Abraham, P.E.

(Submitted under previous NOA No. 12-0713.03)

G. OTHERS
1. Notice of Acceptance No. 12-0713.03, issued to Peetz Windows and Door, Inc. for
their Series “American” Bronze Clad Outswing Wood Casement Window — L.M.I,,
approved on 10/25/12 and expiring on 10/25/17.

y

AL i

Manuel Perez;P.E.
-~ Product Control Examyiner
NOA No. 14:8429.16

Expiration Date: October 25, 2017
Appraval Date: July 24, 2014



G L » . ” —
1. THESE WINDOW SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES 777 MAX. FRAME. WIDTH 39 7/8" MAX. FRAME WIDTH
| NOT 10 £XCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S). " " '
l 2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO 6" A 3" T0 5 8" 8 6"
TRANSFER WIND LOADS TO THE STRUCTURE, ' MAX 3 MAX MAX, | = MAX
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT : : : .
VARY UNLESS prggwé%%rﬁﬂogﬁsgnogng  DRAYINGS. - SPECIFIED ANCHOR EMBED TO BASE } 7 vAvAvlBvAvAv, 7 7 Z |
4. THE DETALS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & » O ?IZ —_——aa " . { - —=" I NS —D7f »
PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AR PRESSURE TESTING IN 6 MAX. —_— v , ' 67 MAX.
g&m}gmﬁam DEHWES FLORIDA BUILDING CODE PROTOCALS TAS-201, 202 & 203 FOR LARGE 7—I> / M 1l \/ < > / / i <1—{—
5. THESE WINDOW SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET THE i THESE 2 | | | /? i . t
REQUIREMENTS OF THE FLORIDA BUILDING CODE (FRC) INCLUDING HIGH VELOCITY HURRICANE ANCHORS 1 FRAME SCREWS, i |
7ONES (HVHZ). ARE. ONLY , ANGLE CLIPS OR FRAME SCREWS,
6. MPACT SHUTTERS ARE NOT REQUIRED WITH THESE WINDOWS. | INSTALLATION ANGLE CLIPS
7. ALL ANCHORS SECURING WINDOW FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING REQ'D WHEN | BRACKETS WHERE
SHALL BE CAPABLE OF RESISIING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN > FRAME OBPOSITE by OR
THE WOOD. o | SHOWN.  SEE B S INSTALLATION /D { |
8, DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE B S HEIGHT i FRAME ANCHOR (B 3 <= 5 BRACKETS 3 B
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCTTY. FOR \3./ 5 EXCEEDS 96" CEIT  REQUIREMENTS - IS/ & N
WiND_LOAD CALCULATIONS.IN' ACCORDANCE WITH THE FLORIDA BUILDING CODE, A DIRECTIONALITY / il " e © /WHERE SHOWN. |
FACTOR OF Kd = 0.85 MAY BE APPLIED PER THE ASCE—7 STANDARD. (HEAD & TABLE" ON THIS o % SEE "FRAME
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS Y z SHL) i H SHEET FOR i /3% ANCHOR |
PRODUCT. WiND LOAD DURATION FACTOR Cd = 1.5 WAS USED FOR WOOD SCREW ANALYSIS ONLY. > ; REQUIREMENTS <] T > H K
10. MATERIALS, INCLUDING BUT NOT UMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH { v . 3 w % REQUIREMENTS }
OTHER DISSWILAR MATERILS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILONG CODE 16" MAX. O.C. ~ ] : N % - . TABLE" ON | 16" MAX. 0.0
11. ALL WOOD MEMBERS OF WINDOWS THAT MAY POSSIBLY COME INTO CONTACT WITH MASONRY (AT SIDES) [N 1 — i alll (P N n ggg SHEET % (AT SIDES)
OR CONCRETE SUBSTRATES, ARE SUBJECT TO MOISTURE &/OR ARE SUBJECT TO THE OUTSIDE o ; : \ o~
ENVIRONMENT SHALL BE OF AN APPROVED OURABLE SPECIES OR BE TREATED IN AN APPROVED ! : . }
METHOD WITH AN APPROVED PRESERVATIVE PER FBC SECTION 2326. > N ACTIVE | INACTIVE] q /] 1 g S A N REQUIREMENTS : ]
CORNER CONSTRUCTION: ' ‘ | ! z E :
RECIANGULAR FRAE; COPED, BUTTED TOGETHER, JOINED WITH 2 NO. 10 X 3 1/8 SCREWS & GLUED ORIZONTAL SASH = “‘
WITH BINDAN D4 OR EQUAL. / AN l EAR JZAPPLICABLE 2 AN oc I
' SHAPED FRAME: MEMBER ARE GROOVED, BUTTED TOGETHER, JOINED WITH 2 MAHOGANY TONGUES & | ) N
GLUED WiTH SINDAN D4 OR EQUAL. WiTH ALL WINDOW |
RECTANGULAR SASH: MULTI-FORKED, BUTTED & GLUED WITH BINDAN D4 OR EQUAL 31" | PANELS (MAY USE 31"
SHAPED SASH: MULTI-FORKED, BUTTED & GLUED WITH BINDAN D4 OR EQUAL. by i MULTIPLE < P ~ MAX. DO B
FRAME_CLAD: MEMBERS ARE MITERED TOGETHER & WELDED ON THE EXTERIOR SIDE. MAX. D.L.O. AX. D.LO.
SASH TIAD: MEMBERS ARE MITERED TOGETHER & WELDED TOGETHER ON THE INTERIOR SIDE. | | HORIZONTAL BARS |
MID—RAIL ENDS: COPED, BUTTED TO STILES/RALS, JOINED WITH 2 NO, ¢3/8" X 3 1/8" Vi0OD HINGE  [H I IN ONE WINDOW i HINGE I
DOWELS & GLUED WiTH BINDAN D4 OR EQUAL. ; y It PANEL / ' y b
FRAME ANCHOR REQUIREMENTS TABLE | / ! A // " / |
OPENING TYPE FRAME/CUP TO OPENING MINIMUM] HINIMUM i ? Tl )< - < > )< He .
{SUBSTRATE) FASTENER TYPE EMBED |EDGE DIST. 8" MAX. \ \ o——13— | T——0 Atrr—o— l{ 6" MAX
FRAME SCREWS A ALA | ALA ~ A A
WiN. 2X4 WOOD FRAME OR BUCK { j ' }
{MIN. GR. 3 & G=0.55) NO. 14 SMS OR WOOD SCREW 147 3/ i ) q
MIN. 16 GA. 33 Ks) METAL STUD | 1/4° GR. 5 SELF TAP/ORIL scRew | Fu | /27 | SEE "CORNER— EXTERIOR ELEVATION; EXTERIOR ELEVATION:
MIN. 1/8" THK A36 STEEL 1/4" GR_ 5 SELF TA°/DRIL SCREW | FULL | 1/z | (CONSTRUCTION DOUBLE RECTANGULAR WINDOWS SINGLE RECTANGULAR WINDOW
MIN. 1/8" THK 606315 ALUM. | 1/4" GR. 5 SELF TAB/ORILL SCREW | FULL' | 1/2 DESCRIPTION ON SCALE. N.T.S. SCALE: N.T.S., -
(2} MIN. €80 CMU {1} 1/4” CONCRETE SCREW 1 1/4 | 2 1727 | THIS SHEET w el
MIN. 2500 PSI CONCRETE {0 1/4" CONCRETE SCREW 1 /7 | 2 1/7 ALLOWABLE DFSIGN PRESSURE
_ ANGtE CLIP INSTALLATION SCREWS (ALL WINDOW CONDITIONS)
MIN. 2X4 WOOD FRAME OR BUCK . .
(MN. GR. 3 & G=055) NO. 8 SMS SCREW 13/87 ] 1/2 __LOCK STRIKE REQUIREMENTS ' +/-70 PSF ;ppﬂrg:tg:; g:whﬂw“ﬂm
MIN. 1/8" THK A36 STEEL _ |NO. & GR. 5 SELF JAP/DRILL SCREW | FULL | 1/2° (TOP_& BOTTOM OF PANEL) (LOCK SIDE OF PANEL) PRODUCT REVISED Drate 70
WMIN. 1/8" THK 606315 ALUM. |NO. 8 GR. § SELF TAP/DRILL SCREW | FULL | 1/2° (2 MAX. SASH QUANTITY [V MAX. SASH QUANTITY as complying with the Flerida NOAW _
NARROW INSTALLATION BRACKET SCREWS PANEL HEIGHT |PER PANEL|{| PANEL HEIGHT |PER PANEL A o 14 (473 17, Jp | MiamiDade Froduct Contro}
MIN. 2XB WOOD FRAME OR BUCK ' ALL PANEL SHAPES ALL PANEL SHAPES Exgiration Date £ T 200T 4
- X » 3/4" o : 1
O G 3 & 0089 | GR”OS :ELSF“ST;;';ER‘]”LL __ ks ; : OVER 94 1/4" 3 OVER 105 1/2° 5 e
N, 1 KSI_METAL STUD |NO. 8 GR. SCR FULL /2 ,. ,, #ﬁi “.
WIN, 1/8" THK AS6 STEEL __|NO. B GR. 5 SELF TAP/ORIL SCREW | FULL | 1/2° 94 1/ 4 2 : ‘105 1,,/ Z 4 Niidhi s Product C‘m"?} b Witk
MIN. 1/8" THK 6D63-T5 ALUM. [NC. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2° 42 1/8 L 79_, 3 HINGE TABLE - %C“?‘ 1{ 3 ;;’
WIDE_INSTALLATION BRACKET SCREWS - 53 2 Sy,
MIN. 2X6 WOOD FRAME OR BUCK . . (1) SASH PANEL HEIGHT DIMENSION IS APPROXIMATELY 1 DOOR_SHAPE HINGE_REQUIREMENTS =§~ \‘g: s"u‘{’;' %
.Z Ly o, ©F
(M|N. GR. 3 & G=D,55) NO, 8 SMS SCREW 1 5/8 3/4 3/4" LFSS THAN THE FRAME HEIGHT CENTERLINE OF HINGES SHALL BE :;? 3 ﬂ:’; ) i@ ‘oq tz”, [.:;
MIN. 16 GA. 33 KSI METAL STUD [MNO. B GR. 5 SELF TAP/DRILL SCREW | FULL 1/2° (2) NUMBER OF TOP & BOTTOM LOCK POINTS MAY BE HALF—ROUND |LOCATED 8" FROM BOTTOM OF DOOR ;?;“0 5;2? Ay e é;e *'9; b
MIN. 1/8" THK A36 STEEL _ |NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/7 REDUCED TO 2 WHEN SASH PANEL WIDTH IS LESS THAN TOP PANEL, 2 3/4” FROM SPRINGLINE AND | = 3l < & M o=
WIN. 1/8" THK 6053-T5 ALUM. |NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2° » 3 » MAX, 28 1/2" 0.C. BETWEEN. 1 =% o o Qi
) 1IN, C—90 CMU ) 3/16° CONCRETE SCREW RIS s 25" & TO 1 WHEN SASH PANEL WIDTH IS LESS THAN 13 =25 Egledv s
. '25{;0 55| CONCRETE T 3,15 CONCRETE SCREW T pe REGARDLESS OF PANEL HEIGHT CENTERLINE OF HINGES SHALL BE {;}“é,'%_,:““ c_..f‘gé:g?
(17CONCRETE SCREWS SHALL BE ELCO ULTRACONS (C.S), ELCO CRETETLEX (5.5, TTW (3) LOCK STRIKES AT MEETING STILES OF DOUBLE ALL OTHFR [LOCATED 8" FROM TOP & BOTIOM ‘2‘,;;6 & f.@f*mf”%ﬁ%‘%{&i&&
RAMSET/RED HFAD TAPCONS (C.S. OR S.5.) OR PILTI K¥K—CON Il (C.5 OR S.5.). WINDOWS ARE NOT REQUIRED WHEN GU HARDWARE (ITEM SHAPES |OF DOOR PANEL CORNERS AND MAX. Frpprt 3 PRGN
(2)CMU IS APPLICABLE AT SIDES ONLY (NOT APPLICABLE AT HEAD OR SNA). £31 IS USED. 28 1/2" 0.C. BETWEEN. Hegpypqonstt

DRAWH BY: |CHECKED BY:
WRY. | wws
T JONiE:
=16 o7/05/12 |
L'.‘
3
=
£ "
&
[]
4
(=Y
z
o
5
o
o
=z

MANUFACTURER

DRAWING TTE AMERICAN OUT—SWING BRONZE CLAD CASEMENT
IMPACT WOOD WINDOWS

WESTON, FL 33331
954-859-3887

PEETZ WINDOWS & DOCRS
15951 S.W. 41ST STREET; SUITE 150

[©]
4
T
2SR,
o odg
z - L
WY kuy
mE Eh
“—a &8
gz Bzu
ok
08 OQ%
l'.f)ets 220.
£° £
=

CERTIFICATIO

_. _,’/ CONSULTANTS

P.E. NO. 44135

W_ARREN W. SCHAEFER, P.E.

YANG NO.

1687

REV.

1

SHEET NO.

OF

6_ |




: : DRAWN B [GHECKED 6. ||
6 " WRW WHS.
- FLoT: BATE:
3 K] T MAY. . =16 07/05/12

=1.57 N7 AYAY, ¥, /S:.L/_
= e S :
i q__
il | %
i z /I
o 3 ! g
// / ' l // / I: < qSf-’Rll\!GLIi‘le g
1ji}1 \ / | | B
/ ] FraME screws, FRAME SCREWS, i FRAME SCREWS, ; : ;
1 ANGLE CLIPS OR ANGLE CLIPS OR ANGLE CLIPS OR I 5
/ I i INSTALLATION INSTALLATION | INSTALLATION I 2
/ i BRACKETS WHERE BRACKETS WHERE I B BRACKETS WHERE &
: Iyl SHOWN. SEE SHOWN. SEEC 1 SHOWN. SEE I =
T / 1 "FRAME ANCHOR = "FRAME ANCHOR ] = FRAME ANCHOR | z
r = / TABLE" ON SHEET \ W] TABLE” ON SHEET 1 W | TABLE" ON SHEET 1 l
w = Dﬁ o HH 1 FOR i w 2 > |/ FOR b w DI 1/ FoR | <l 2
z 32 /] &/ : } ™ REQUREMENTS. | z Z ' REQUIREMENTS, | z g )| REQUIREMENTS. | =
P SITE = tn L
G I Sy @~ ey O O ||
x = Z N3 . 3 I 2> | 8 R
= oo ACTIVE i i INACTIVE < =S| N | I i E RN I 1k = | Se3s
T - - ’ i 7] ko
AN il / N | N\ ! 2 | 8,28
wn |
> \ e @t g NG 2e | [ > @=L |2 [ 2ed
H N f LocK y ‘ 16" MAX. i LOCK \F 16" MAX. \ LocK \1: 16”7 MAX, 3 Egg@
31" i THESE 2 ANCHORS 0.C. | 31\,. 0.C. o I oc. | &
e mm— ] ] ; (ALL SIDES}) IS [ {I{(ALL SIDES) SO (ALL SIDES) ||y |z = —
ol [ oY o | [ ] ol [ o HEEEH
, 2 3
\ (Y] EXCEEDS 96" (AT 1 { \ | @‘\ | e & -
HINGE >, [ HEAD & SILL) RINGE HINGE : > i] m(é) E
) 2 (&)
| | 7 >/ A ﬂ 4 - & 125
NN /5( il g q_L D 2\ | g ——MAx. B N q—|-max. 1=2] o
L o 0——n 6" MAX. e e e sal B 3
N, S ALK [AAA iy i iy 7y iy iy o9 Y<ed,
&6 4 6" 8" _.—{ d |‘_’_ 6" 8" '—"——i 4 l__’__ 68" z= % ‘gdg
l MAX. | | I 1 | [ l || [ - 219 50 MAX | MAX, MAX. MAX. MAX. g,(_). S kud
_ [T EE= ol
77" MAX. FRAME WIDTH ' -— 39 7/8”" MAX. FRAME WIDTH — ~— 39 7/8” MAX. FRAME WIDTH —] %§ E?)J Egé
SEE "CORNER EXTERIOR ELEVATION; EXTERIOR ELEVATION: EXTERIOR ELEVATION: - g§§ gg‘g
CONSTRUCTION” DOUBLE HALF ROUND WINDOWS APPROVED SHAPES SINGLE QUARTER ROUND WINDOW SINGLE HALF ROUND WINDOW A Q;’%;‘*
DESCRIPTION ON SCALE: N.T.S. — - ~ SCALE: N.T.S. SCALE: N.T.S. 3;‘ F:
SHEET 1 NI 83
7 _] L S PRODUCT REVISED
) Z 4 4 as camplying wilh the Florida 1283 i
, Building Code , | (at ' Ll 4, ~
A AN A tanog No [k - f it § 2% e sy
% (\ N 7 . B:gfl;ﬁ;&:em:; 4Ll o %) ?ﬁ\e“méﬁsﬁ?fﬁ%’ S |um
\ Ve i i~ vd "} fr 4 £ ) &E. a‘a. %e'? '1. ‘f* I b$
AR oy sl Ay, STm G Z iz
Miatni el Confrel =9 :};;f O KW &g
NOTES: i . jﬁ piny . § ‘i:'}: . !.L; ——E ek ;uj
1. OTHER SHAPES MAY APPLY ’ S ‘i% S g & =
iR b [PTTRVRNRE oA I 1L
CONSTRUCTION AS DESCRIBED IN THIS Date ‘% %\%Z?‘:“ ,%éﬁ & £
3 ' NOAW S (g Seeenncnt G oS ——
fetheds T Mt A A & KA ™
RECTANGULAR UNITS & BE GOVERNED . FEREygiand SHEET NO,
BY THE ALLOWABLE PRESSURE OF THE | - R l
RESPECTIVE RECTANGULAR LINIT. T u 2 o+ 6|



SUBSTRATE BY OTHERS
PER "FRAME ANCHOR

FRAME SCREW

3/8” MAX. SHIM

]

FRAME WIDTH

CHECKED BY:

S,

19 REQ'D ONLY WHEN WINDOW
FRAME HEIGHT EXCEEDS 96"

DRAWH Bz

WRM. W)
PLOT: BATE:

1=2 07/03/12

» AT EACH ANCHOR
REQUIREMENTS TABLE PER ELEVATION giTr\Fli[iJACNrUl)RiL WOOD &
T S AR SUBSTRATE BY OTHERS (44) 3
I;"-- RO L W s v PER "FRAME ANCHOR N\ - (39 - 51 GLUE OR EQUIVALENT
AT o REQUIREMENTS TABLE” .. N\ / ® , 3 —— 8 £
TN 2 AS REQ'D (48 4 |
3/8" MAX. 2. 3
[, SHM AT ) SEE GLAZING 10 ~3263) 48) AS REQ'D fiE
EACH ANCHOR fomms N\ ] 2
A Lo Y
SEALANT BY FRAME SCREW — * / SHEET 4 / / °
OTHERS PER ELEVATION % ) g 3
12 " i \ h_| é
SIKASIL: ) kg i /&}( 3
SG20 SIKASIL—==4 - i
} I [EXTERIOR]
5620 \ EXTERIOR Y i
\ 13 ._/ 17 3
B (8" @3 49 o
¥ (TR}
31 ) 30 SIKASIL: 16) \IREQD =
5620 ONLY Q7
¢ 12 5 WHEN T
, (3~ SEALANT BY OTHERS SECTION /7 HINDOW = ag%ﬁ%
EXTERIOR J SECTION m SCALE: 1/2 FULL \é/ HEIGHT g %Bdé
. o EXCEEDS r O
G SCALE: 1/2 FULL \3/ SEE GLAZING e 205
. - T +
FRAME SCREW MOUNT SHOWN. SEE DETALS ON < g
SEE GLAZING AT W SHEET 4 5 | B==
SEE QLAZIN 2 DETAILS ON SHEET 4 & 5 FOR o | B
] ALTERNATE INSTALLATION DETAILS.
SHEET 4 I~ b EXTERIOR N lg "3
. o o g v
EN | 3/8" MAX. SHiM P B
06 2 FRAME WIDTH AT EACH ANCHOR 9 o2 g
=
N N~ 39 @— =2
zZ] ©
< D __— SUBSTRATE BY Tl 2
39 2 &+ OTHERS PER Eal . 3 l
7 "FRAME ANCHOR ©g gé B8
5 _4  REQUIREMENTS = =T3S
A 'L_\ 4D SEE GLAZING S TABLE e T
DETAILS ON e z Q| ~FE ga%
2 ~® / < PER ELEVATION EH BT
SEALANT BY (= \ K SECT/EON @ g g§8 éﬁé
S SCALE: 1/2 FULL = o
OTHERS I —— J E Dxd g
SRS g 0
» L PRODUCT REVISED K3 5o
: 3/8" MAX. e SKASL s complying withs the Flotida s [8=
¥ o ooriM Al EeEmeias] NBe S o exd S NUY | A Building Code | . , &
EACH ANCHOR EXTERIOR 4 ' Acseptanco No 14498/ 2, st ]
e i Bxpiration Date £ Jok. 253 %4 7 O ﬁ?\ #éfga J"i’ *
R N R TN ey T iz C T o : @\th e,.,ae“ee.%’*fé},’% ;-3-’ ]
S R / : By M AL T, RATICN RO X S |bg
SUBSTRATE BY OTHERS GG (38 SEALANT BY Miami Dade Product Contral~ §§‘ T IR AP ( £
PER "FRAME ANCHOR FRAME SCREW OTHERS L S EeE Y p ST g
REQUIREMENTS TABLE” PER ELEVATIO . T (TR Lyl Fui
SECTION e SECTION 73y st 550 o EOIEE S
(A SCALE: 1/2 FULL 3/ Florida Baiting Cod e FeE
SCALE: 1/2 FULL \3/ Date L)/ T. % 0%, o S $
FRAME SCREW MOUNT SHOWN. SEE NoA# 2. 718, T3 oy e T oK AS
FRAME SCREW MOUNT SHOWN. SEE DETAILS ON SHEET 4 & 5 FOR Miamt Dade Product Contred #, ‘?'/;f ‘%"? 4 Y §t§ - DRAWING MO REV.
DETAILS ON SHEET 4 & 5 FOR ALTERNATE INSTALLATION DETAILS. By THITTI 1687
ALTERNATE INSTALLATION DETAILS. d “ SHEET RO,
L . 3 o B




41 l—w SEE GLASS OPTIONS BELOW
SIKASIL SG20 BY

SIKASIL. SG20 BY ﬂ-|

t—— SEE GLASS OPTIONS BELOW

SUBSIRATE BY OTHERS
PER "FRAME ANCHOR

ANGLE CLIP INSTALLATION
SCREWS PER "FRAME

DRAWN BY:
WRW

PLOT:

CHECKED
LA LS

DATE:
1=2 07/05/12

F:l

REQUIREMENTS TABLE" ANCHOR REQUIREMENTS |
SIKA OPTIONAL SILICONE CAP BEAD SIKA OPTIONAL SILICONE CAP BEAD ' B AN T TABLE" (2 PER CLIP) i “
- 3 ANGLE CLIP PER
| EXTERIOR : | EXTERIOR 3 /_.ELWATIONS s
’ SPOT OF POLYURETHANE . SPOT OF POLYURETHANE ( 3/8” MAX. SHIM
/8 i, BTE ADHESNVE (oTTocoLL /& MIN. BITE ] o ADHESNVE (OTTOCOLL FNEx/T 10 tach e Iz
} P85 BY OTTO—C)HEMIE } ! P85 BY OTTO-—C)HEMIE i £
OR EQUAVALENT) AT A OR EQUAVALENT) AT e &
sIasIL—" 1|/ » SIKASIL: % . SEALANT BY a
o0 gNé)s AND 18" MAX. a0 } gﬂgs AND 18" MAX. OTHERS ] % i gl
o @ o ¢ | %
@ 47) OPTIONAL @ 47) OPHONAL T @
A | SN0 8 X 1 3/16”
g SETTING 2Y3 C] SETTING 2X3) SCREWS (2 PER cUP) |3
Nb=— BLOCK AS 4)5 N BLOCK AS 4X5)°
REQ'D REQ'D
NON—L.G. GLAZING DETAIL l.G. GLAZING DETAIL B3
GLASS OPTIONS 1 & 2 GLASS OPTIONS 3 & 4 @l
. o2 "
GLASS OPTION 1: 1/2" LAMINATED GLASS (3/16 GLASS OPTION 2: 1 3/16" LAMINATED 1.6. {3/16 - V%
AN./0.075 SOLUTIA VANCEVA/1/4 AN.) AN./0.075 SOLUTIA VANCEVA/1/4 AN./1/2 AR E | e
NOTE: 3/16” THICK GLASS PANE IS AT EXTERIOR SIDE SPACE/3/16 TEMP. INTERIOR) EXTERIOR i Bn
OF LAMINATED GLASS SFCTION NOTE: 3/16" THICK GLASS PANE IS AT EXTERIOR = | €5eg
SIDE OF LAMINATED GLASS SECTION Q 8EZ_$
& Z70
OPTIONAL ANGLE CLIP INSTALLATION DETAIL a | =¥gu
i (HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) é Eﬁ.g
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) w e A
N &
SUBSTRATE BY OTHERS BRACKET INSTALLATION SCREWS PER SUBSTRATE BY OTHERS INSTALLATION BRACKET SCREWS PER z | 2
PER "FRAME ANCH?_R” "FRAME ANCHOR REQUIREMENTS TABLE” PER "FRAME ANCHOR "FRAME ANCHOR REQUIREMENTS TABLE" & [ -
REQUIREMENTS TABLE (2 PER BRACKET) REQUIREMENTS TABLE (2 PER BRACKET) PRODUCT REVISED Og z i
. oI ’ T' Ve ‘...«u s :;' A SN : oL A~' [ B NN ' a i -8, - ,-l :' . - . _:_..‘:-- ‘. A-' el TR . '.:L ‘:-..‘_".43' -4, as cmnplying with l!lel*lorida =z 8
el B ~;..- N ST AT A g o N Ly Tl K R - A L L P P Building Code . =
i o A 5 L Alcti:e;;‘t]aguw No {4« Zé% U;') § (_ZD
23 Bxpitation Date <] L5, 41 blo % @
) %! Bod L
<= % 3/8” MAX. SHIM NEXT 3/8" MAX. SHIM NEXT By /AL T(8n 83| £& EE&
1N {_ TO EACH BRACKET TO EACH BRACKET Midiny Dade Prodict Controt | z= % L 2ad
[ — i S Ok= S kyy
A =0 SO
SEALANT BY 7 SEALANT BY f ' Ee| B5821
OTHERS OTHERS S| B335
NARROW BRACKET WIDE BRACKET approved 43 conplylag with the <=| £28:4
PER ELEVATIONS PER ELEVATIONS Florida Beldtlng Cgls %88 382
MIN. 3" X 4" SHIM AT EACH BRACKET Date s [Ges73
NO. 8 X 1 3/16” SCREWS NO. 8 X 1 3/18" 3 %;‘
(2 PER BRACKET) SCREWS (2 PER BRACKET)
¢ |
[
z €13
L 297 = 3:
SR o2z (& gd
o O 2% £ wogh s ||E vz
soid T Sovan e Fu)
EXTERIOR EXTERIOR Exin V¥ 5 SEE IO S
| 22y 5 408
= 6’ eﬁ’s o, &y ':.a
& *eeoa°°5§-3°° -
OPTIONAL NARROW BRACKET INSTALLATION DETAIL OPTIONAL WIDE BRACKET INSTALLATION DETAIL by by %ﬁﬁg%%g? 551 "é“‘s‘37”°- REV.
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) (HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) AT AT
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) (FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) 4 o 6 |
| _ |




DRAWH Bf:  |CHECKED BY: ||

{ 2.677 C e 3.240 MIN, — e 3321 MIN. —— LD W
_CONTINUOUS WOOD MEMBER LESS RN THICKNESS ——2.382 —~ ‘ . 1.667 P M
(THAN A 2X_ BUCK TO BE MIN. 3 1/2” DEFP /7~ SUBSIRATE BY OTHERS “1
NOT REQUIRED WHEN SHIM SPACE IS WITHIN " p
REQUIREMENTS TABLE” 1.021 z
ALLOWABLE DHENSIONS SHOWN IN SECTIONS) 02 M\\"fT G E
. N i 2199 4,0 2.677 A 5
: TOMN- U 1887 5 677
/—EE?«MELE\%%NS TP MllN. | i - g
SEALANT BY n B —1 1.189 |— 0.590{(F
OTHERS SHl ANCHOR ‘\\I i T 0.629 } %
REQUIREMENTS EE— T @S SH_(INACTIVE .
o TABLE” g
(2)sASH_(RAILS & (3)SASH (ACTIVE - MEETING STILE) |
2.676 LOCK/HINGE STILE) MEETING STILE)
| i B o I
| ] 0715 :
1 [ —’/i i &«—1.772 T l “
U 0550 |/ 0780 : 0.788 :] 1.122 3
2.629 1485 0990 ¢ _ i "
MIN. MIN. } g%
EXTERIOR . ne | INTERIOR M —-——-I ZING FRAME ST
| ASTRAGAL GLAZING BFAD ~ BEAD CLADDING 5 | sBil8
_ = Qe
| MID—RAIL —{ 0.965 |- . 2.303 MIN. a | 508
OPTIONAL DIRECT MOUNT DETAIL ® l 0.079 —Jl=— 2058 — | P 2051
TO SUBSTRATE WITH SPACER —]1.004 }- I o o470 0.098 2 g_gm
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) 1.287 f ‘ o Eu;
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) g 05 ] (16) EXTERIOR ! 0965 |hy [s& -
0.098 - MIN. 0.195 —| |— ASTRAGAL ASTRAGAL g [ 3
. e SASH CLADDING CLADDING - o[
i 1574 ] | N, EXTENSION 0.787 =] 23
0098 === — (INACTIVE SASH) Sy -
© : © MlD—RAlL PRODUCTREVISED N EL)G & 2
‘ T o hpye with the Florida 0 197 —~N~— 1,575 o] ¥<n,
o =N CLADDING O \ o8| 523
iration Date{ i, g’? 1 <C o Ew'é
35 MN. | & o SASH "5 o6 & 388
4,528 MAX. 2L By /b ;fjgfjm{? ;% @ STILE e B5821
@) CLADDING '\dmnn[)adel’mductContmi REINFORCEMENT E% ga Egﬁ
b w4 RS AR S 1,58 °8%
o © | T 8 Rovids Batginn B 71 the 500 ghs
: S -
. 0 Z ..
4724 —— 8=
| J JAMB——</O'° 0o ‘\7—— LOCATIONS -
0.098 SCREW  N\O O o FOR
' o O - O 3.150 LOCATIONS o 0 9.366 INSTALLATION
o o o 1575 o o o SCREWS TO
| o O 'e) o SUBSTRATE
ANGLE CLIP T | o o
0.079 - _ 1
(21)NARROW INSTALLATION BRACKET 0.063 -1




(ITEM # TEM DESCRIPTION MANUFACTURER/NOTES
) PARTS
FRAME WOooD
SASH (RALS & LOCK/HINGE STILE} WO0D
SASH (ACTIVE MEETING STILE) WOOD
SASH (INACTIVE MEETING STILF) WOO0D
MID—RAIL _ WO0D
INTERIOR ASTRAGAL W00D
NON—LG. GLAZING BEFAD Wo0D
i.G. GLAZING BEAD WOOoD

FRAME CLADDING

BRONZE OR B6083-T5 ALUMINUM

SASH CLADDING

BRONZE OR 6063-T5 ALUMINUM

e e e e
e ey [ RN E= N RSN BN [ O]

[ 14 mib—RAIL cLaDDING BRONZE OR B063—T5 ALUMINUM
| 15 1SASH CLADDING EXTENSION (INACTIVE SASH) BRONZE OR B063—T5 ALUMINUM
| 16 |EXTERIOR CLADDING BRONZE OR 6063—T5 ALUMINUM
17  |ASTRAGAL CLADDING BRONZE OR 6063—T5 ALUMINUM
19 [STILE REINFORCEMENT GALVANIZED 34 KSI STEEL
REQ'D ONLY WHEN WINDOW FRAME HEIGHT
EXCEEDS 98"
20 |ANGLE cuP GALVANIZED 34 KSI STEEL
il 21 |NARROW INSTALLATION BRACKET GALVANIZED 34 KSI STEEL
22 WIDE INSTALLATION BRACKET GALVANIZED 34 KS) STEEL
HARDWARE
31 |BUTT HINGE 5 1/2" LONG BRASS, PLATED STEEL, OR S.S. BY BROS
32 {MULTI—POINT LOCK SYSTEM BY: SIEGENIA
: TYPE: MUSHROOM,/ROLLERBOLT
33 |MULTI-POINT LOCK SYSTEM BY: GU
TYPE: MUSHROOM/ROLLERBOLT
34 |HANDLE AS REQUIRED TO OPERATE LOCK SYSTEM
SEALS & SEALANTS
38 |COMPRESSION SEAL SCHLEGEL QL3097 URETHANE FOAM
39 | WEATHERSTRIP GIG EPDM BY PEETZ
40 | WEATHERSTRIP HAUTAU EPDM HD25
FASTENERS
43 |3/16” X 7/8" SELF TAPPING SCREW | WITHIN 5" OF CORNERS.& 13 1/2” MAX. O.C.
44 [NO. 8 X 13/16” WOOD SCREW WITHIN 5” OF CORNERS & 15" MAX. O.C.
45 |M5 X 15mm SELF TAPPING SCREW 4 PER HINGE INTO FRAME CLADDING
46 13/16” X 2 3/4" WOOD SCREW 4 PER HINGE INTO SASH
47 118 GA. X 1 1/4”" GALV. CURVED NAIL WITHIN 10" OF CORNERS & 20" MAX. O.C.
48 INO. 8 X 1 3/8” WOOD SCREW WITHIN 6" OF CORNERS & 14” MAX. O.C.
49 |NO. 8 X 13/16" WOOD SCREW WITHIN 2” OF CORNERS & 12" MAX. O.C.
50 |M5 X 8mm MACHINE SCREW WITHIN 2" OF CORNERS & 9 1/2" MAX. O.C.
51 |NO. 8 X 1" WOOD SCREW WITHIN 1" OF ENDS & 8" MAX. O.C.

OF ELASTICITY OF E =

NOTE; WOOD USED IN TESTING WAS MAHOGANY WITH A SPECIFIC GRAVITY OF G = 0.46 AND A MODULUS
1,500,000 PSI. OTHER W0OOD SPECIES APPLICABLE fOR USE WITH THIS
PRODUCT ARE THOSE WITH A SPECIFIC GRAVITY OF 0.46 AND MODULUS OF ELASTICITY OF 1,500,000
PSI OR GREATER. ALL WOOD IS MINIMUM GRADE 2 MILLED BY PEETZ WINDOWS & DOORS TO
SELECT.

PRODUCT REVISED
s complying with the Flotida
Building Code »

Aceeptanes NO_E
E\!:uratmn Date{”;

By }; i%?ﬁ .r’ M
Mlamx’Dadc Pmduct Conlrol

i :
v/ L

Approved as complylng with the

Flavida %ﬁid Ing

Date

NOA# |3
Miamt Dode ?md et Contral

By /

-

gi%ﬁ%ﬁ?é; %
by
& ?fﬁ?“ * é{:?& “,

O‘dgnﬁﬂaaoa

iomwu oY;  |cHECKED BY:
R Was,
FLOT: DATE:
U2 07/05/12
l%
=
o
& “
{&
i
]
(o]
rd
o
i)
b
o
P
z
(o ]
I3
Le}
=
[ g
QW
A .3
E | slbg®
| TEA
= U');o_:_JI
| Bmm%
9 | 8,28
wZ
& Zro¢
o = b;i[)
o
5 ==
O 7))
w g0
N E g
Sk & "
o i
m o)
o B
=
= o
‘? =
i
5 | B}
5 | £38%,
O™ c,9
2 | Becit
S | T2 kyy
74 EF‘-OD'.‘
O ogl
5 > 283
7 b
< gzgiﬁi
4 59 "33
= gmoﬁzE
= ~
g B=%
Z‘b
I EE

CERTIFICATION

W./SCHAEFER, P.E.
E/NO, 44135

)
=

DRAWING NQ. {REV.

1687

“ SHEET NO.

oF B I




